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CBSE Mathematics Sample Papers XI

Trigonometric Equations

Very Short Answer Type Questions

The smallest value of 6 satisfying the equation V3 (cot® +tan B) =4 s

2m T T ]
(A = (®) & © 3 (®)

The number of solutions in [0, g] of the equation cos 3x tan 5x = sin 7x is

(A) 6 (B) 5 (7 (D) none of these
The equation 3 cos x + 4 sin X = 6 has solutions
(A) one (B) Infinite (C) Finite (D) No

Write the general solution of the following equations

sin>76 =0
36 1

cos —= =
2

Short Answer Type Questions
Write the general solution of the following equations
2 cos’0 + 3sinB =3
2tan B -cotB =-1

3

sin 6

cot’ 6 + +3=0

tan®6+tan 26 +tanBtan26 =1

4 sin 6 sin 20 sin 406 = sin 36



